Test 24.2.2011 VKA
Ldsungen:
Punkte
1 | Bitte finden Sie die quadratische Ergéanzung 8
a) 64a*g’- 176a%*g* | L: 64a’g* - 176a%g*  + 121g* = (8a%g? - 11g°)?
b) x4+ px | L: X% + px +0,25p? =(x +0,5p)?;
c) 25w?+ 110d2w | L: 25w? + 110d?w +121d* = (5w + 11d?)?
9 78 .9 78 169 _ (3 13, ,,)2
d) 2522 - 5= ZW |L: 2522 -2 ZW + 52 wW? = (5z—-%Fw)
2 | Bitte berechnen Sie die Unbekannten 6
a) -1,9(x+10,1)-8,4(x-9,2) +3,1=-2,67 IL: x=6.2
6 3 11 7 3 3 _ 263 . — 5
) (Tb-16)*% - 2)*%) -5 =% | L: b =-%
0 9 _ 51 . _ 2
0 I, T "8 =% lLy=g3
3 | Bitte berechnen Sie 6
a)
10 3 1 3 . 35
11 (( 7 6 ) 4 ) | L 132
b)
7. 4 3 5 56
((g:32): %) 3 | L: %5
c)
10 3 1 1 . 100
( 9 10 ) ( 2 2 ) | L . 27
4 | Bitte berechnen Sie 2
3) 7 -3 5 3 -3 ,-7
(g-2-g)*x(G-7+%) IL: 55
4 7 4 9 -2 -4 . -
S-S5+ (E+5 -3 14
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